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QUESTION 1

Scenario: CGE decided to virtualize its infrastructure workloads and provide a virtual solution to all end users. The
infrastructure workloads include Delivery Controllers, StoreFront servers, License Servers, and Microsoft SQL Servers
for databases. Why is creating a resource pool comprising a maximum of 32 XenServer hosts, using a virtual disk
storage repository for XenMotion and high availability, and replicating and performing backups for the meta information
the best design solution?

A. It addresses all customer requirements by ensuring appropriate design of resource pools, high availability for critical
workloads, and a new storage solution for disaster recovery purposes.

B. It ensures simple setup with a built-in failover design.
C. It allows virtual workloads to fail over to a failover site for disaster recovery purposes.
D. It optimizes performance and provides centralized management.

Correct Answer: A

QUESTION 2

Scenario:

A Citrix Architect is asked to design a new external access architecture for CGE. The regional datacenters have
NetScaler appliances delivering load-balancing services. Security policy mandates that these internal appliances

CANNOT connect to the DMZ.

How should the architect configure the callback URL with a high availability pair of NetScalers located in all three
regional datacenters?

A. Configure the callback URL to point to the local NetScaler, and configure the Secure Ticket Authority (STA) to point
to the local Delivery Controllers.

B. Configure the callback URL to point to the external address, https://secure.cge.com, and configure the
C. Secure Ticket Authority (STA) to point to the local Delivery Controllers.

D. Configure the callback URL to point to the FQDN of the local NetScaler Gateway, and configure the Secure Ticket
Authority (STA) to point to the local Delivery Controllers.

E. Configure the callback URL to point to the external beacon address.

Correct Answer: D

QUESTION 3

Which tool should the architect use in preparation for migration to Windows Server 2012 to determine application
compatibility and suitability for virtualization?

A. AppDNA
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B. App-V Sequencer
C. EdgeSight for End Points
D. Windows Upgrade Advisor

Correct Answer: A

QUESTION 4

A Citrix Administrator is unable to create desktop OS machines using Machine Creation Services. What is a possible
cause of the issue?

A. Citrix Director is unreachable

B. DHCP is NOT working correctly

C. The Machine Identity Service is NOT running

D. Antivirus software on the Delivery Controller is blocking the creation

Correct Answer: C

QUESTION 5
Why would the architect choose XenServer MPIO when configuring network interfaces for storage networks?

A. It provides load balancing of VM traffic across multiple physical NIC interfaces at a per guest basis, and offers
improved distribution of traffic across physical interfaces in the bond.

B. It sends all guest VM traffic in the bond to an active interface, which provides the best distribution of network load.
C. It uses a hashing algorithm, which provides better distribution of traffic across the interfaces in the bond.

D. It uses a round robin load-balancing policy, which provides better distribution of traffic across the interfaces in the
bond.

Correct Answer: C

Latest 1Y0-401 Dumps 1Y0-401 VCE Dumps 1Y0-401 Braindumps

Latest 1Y0-401 Dumps | 1Y0-401 VCE Dumps | 1Y0-401 Braindumps 3/3


https://www.pass4itsure.com/1y0-401.html
https://www.pass4itsure.com/1y0-401.html
https://www.pass4itsure.com/1y0-401.html
http://www.tcpdf.org
https://www.pass4itsure.com/1y0-401.html
https://www.pass4itsure.com/1y0-401.html
https://www.pass4itsure.com/1y0-401.html

